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Multiplying by 10, 100 or 1000 - missing factor

Grade 5 Multiplication Worksheet

Find the missing numbers:

) x 98 = 98000
3 x 807 = 8070
5 686 X = 686000
7) x 10 = 8900
9) x 1000 = 748000
1) 1000 X = 682000
13) x 1000 = 127000
15) X 689 = 689000

2)

4)

6)

8)

10)

12)

14)

16)

763 X

1000 x

1000 x

= 7630

= 663000

= 715000

1000 = 483000

/718 = 718000

115 = 115000

1000 = 509000

1000 = 220000
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Answers

Y 1000

® 1000

7890

9 748

W 682

9 127

%1000

Y 663

% 715

9 483

91000

21000

509

10 220
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